cT (cm)

Yield in Bin A  Yieldin Bin B Yield in Bin C Yield in Bin D

10
50
100
200
400
600
800
1000
1200
10000

485+1.1
31.1+0.8
23.80 =0.49

19.0 +=0.6
11.04 £0.48
9.45+0.45
7.15+0.39
543 +£0.35
4.96 =0.32
1.28 £0.17

31.8£0.9
479 +1.0
39.3£0.6
33.9+0.8
23.2+£0.7
18.6 = 0.6
14.5+0.6
13.4+0.6
11.93 £0.50
3.32+£0.27

12.0£0.5
4.64 =0.30
7.15+0.27
9.221+0.44
9.80 +=0.46
7.17 £0.39
572 £0.35
521+£0.35
4.67 +=0.31
0.69 £ 0.12

21.1+0.7
4.11+0.29
5.871+0.24
6.57 +0.37
543 1+0.34
4.34 +£0.30
3.53 £0.27
299 +£0.26
2.38 £0.22
0.45+0.10



